Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 03/04/2018 NZ OW gift 1 Nz OW gift 2 Nz OwW gift 3 Nz OwW gift 4 NZ OW
datum=10 datum=630 datum=-360 datum=360
1 Radeur Bart-De Maeyer Connie 2 Sainderichin Nicole-De Preter Ludo 1 2 3 -3 110 N2H= 0 0 630 N3N+1 6 -6 —100 N3s-2| -4 4 200 N2H+3
3 Van Uffelen Marc-Jeunen Carine 4 Van Camp Francois-Theeuws Luc 3 6 -4 4 -150 O2R+3 1 -1 660 N3N+2 -6 6 —620 W4H= 7 =7 650 Z4H+1
5 Van den Eynde Dries-Mistiaen Dierik 6 Apers Gilbert-Hens Danny 5 10 4 -4 140 N2H+1 0 0 630 N3N+1 6 -6 —-140 W2H+1 -6 6 100 03s-1
7 RAerts Danny-Cle Hilda 8 Mertens Monique-Schoofs Ghislaine 9 14 3 3 -100 N4H-2 0 0 630 N3N+1| -10 10 -790 WAH!=| —11 11 -140 03S=
9 Van Aken Marcel-Taeymans Eddy 10 Smet Hilde-De wael Herman
11 Hens Jan-De Cat Raf 12 Peeters Luc-Beukeleirs Wim ’ ’ THL ML mes0 ovkes 0 0 630 MmN ¢ T8 200 meNme 77T 650 MR
13 Geenen Francine-Dierckx Jeanine 14 De Meyer Theo-Wolput Wim 118 3 73 100 0dR-2 0 0 630 N3N+l 5 75 7170 W3H+l 7ooo7 650 NdH+d
15 Depuydt Gerard-Lozie Lut 16 Bye 13 12 3 -3 100 03s-2 0 0 630 N3N+1 =7 7 —-650 W4H+1 -4 4 200 04s5-2
Bye
N7z oW |9ift 5 Nz oW gift 6 NZ OW gift 7 Nz OW gift 8 NZ OW N7 oW |9ift 9 Nz ow gift 10 NZ OW gift 11 Nz oW gift 12 NZ OW
datum=110 datum=100 datum=-640 datum=20 datum=350 datum=-630 datum=-300 datum=-20
1 14 -5 5 -100 z3H-1 0 0 100 0O4s-1 0 0 -650 04s+1 1 -1 50 W6R-1 1 12 2 -2 400 O5H-4 16 -16 800 WeR!-: 8 -8 50 w4H-1| -3 3 -140 02s+1
3 4 0 0 100 W5K-2 0 0 100 0O4s-1 1 -1 -620 wW4s= -2 2 =50 zeH-1 Bye
5 8 1 -1 140 N2S+1 0 0 100 04s-1 0 0 -650 W4s+1 10 -10 450 N58= 5 6 2 -2 420 N4s= 0 0 -620 O4H= -3 3 -420 wW4H= 8 -8 300 wW4s!-:
72 -5 5 -100 z2H-1 0 0 100 0O4s-1 0 0 -650 04s+1| -2 2 =50 N6s-1 7 10 -9 9 -50 N4s-1 0 0 -620 O4H= -3 3 -420 wW4H= 3 -3 100 wW4s-2
Bye 9 14 -2 2 300 W3R-3| -1 1 -650 O4H+1 8 -8 50 w4H-1| -3 3 -140 W2s+1
11 6 4 -4 250 04S-5 0 0 100 0O4s-1 0 0 -650 04s+1 2 -2 100 wek!-1 |11 4 3 -3 450 N4s+1| -1 1 -650 O4H+1 0 0 -300 N4s!-: 2 =2 50 W3s-1
13 10 5 -5 300 O3R!-: 0 0 100 0O4s-1 10 -10 -200 03s+2 1 -1 50 W6R-1 13 2 -4 4 200 N3s+2 1 -1 -600 W3N= -4 4 -430 O3N+1| -4 4 -170 W2S+2
15 12 1 -1 150 O3N-3 0 0 100 0O4s-1 1 -1 -620 045= | -14 14 -920 O6R= 15 8 2 -2 420 N4s= | -13 13 -1440 OeN=| -3 3 -420 wW4H= 2 =2 50 W3s-1
NZ OW gift 13 NZ OwW gift 14 NZ OW gift 15 NZ OwW gift 16 NZ OW NZ OW gift 17 NZ OW gift 18 Nz OW gift 19 NZ OwW gift 20 NZ OwW
datum=-180 datum=-40 datum=-420 datum=-630 datum=-130 datum=50 datum=120 datum=400
1 10 7 =7 100 O5K-1 -2 2 -100 N3Ss-2 10 -10 50 W5s-1 0 0 -630 W3N+1 1 8 =7 7 —420 O4H= 11 -11 620 N4s= -3 3 0 PAS 6 -6 650 N4H+1
3 14 -9 9 -600 O3N= 0 0 -50 N4s-1 0 0 -420 wW4s= 0 0 -630 W3N+1 3 12 6 -6 100 O4H-2 3 -3 150 O3H-3| -3 3 0 PAS -11 11 -100 N5H-1
5 2 14 -14 800 O5R!-: 5 -5 140 N2S+1 0 0 -420 wW4s= 0 0 -630 W3N+1 Bye
7 8 7 =7 100 05s-1 4 -4 110 N2s= 0 0 -420 wW4s= 0 0 -630 W3N+1 7 6 5 =5 50 04H-1| -4 4 -100 N3s-1| -3 3 0 PAS 6 -6 620 N4H=
9 12 -9 9 -600 W3N= 0 0 -50 N2s-1 0 0 -420 wW4s= 1 -1 -600 O3N= 9 10 =7 7 -420 O4H= -4 4 -100 N3s-1 5 -5 300 wW3s-3 6 -6 620 N4H=
Bye 11 2 5 =5 50 04H-1| -4 4 -100 N4s-1 5 -5 300 02s-3 7 -7 680 N4H+2
13 6 7 -7 100 W3N-1| -2 2 -100 N3s-2 0 0 -420 wW4s= 0 0 -630 W3N+1 13 4 6 -6 100 O4H-2 3 -3 140 N3s= 5 -5 300 03s-3| -5 5 200 N3H+2
15 4 -9 9 -600 O3N= -2 2 -100 N4s-2| -2 2 -480 W5S+1 0 0 -630 W3N+1 15 14 -8 8 —-450 O4H+1 3 -3 140 N2Ss+1| -6 6 -110 02s= | =11 11 -100 N4H-1
NZ OW gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW gift 25 NZ OW gift 26 Nz OW gift 27 NZ OW gift 28 Nz OW
datum=-310 datum=90 datum=80 datum=200 datum=-650 datum=640 datum=500 datum=170
1 6 -3 3 -400 W3N= 0 0 100 O2N-1| -5 5 -100 N2s-1| -3 3 110 N2s= 1 4 0 0 -650 W4s+1 0 0 630 N3N+1 0 0 490 N3N+3| 10 -10 620 N4H=
3 2 9 -9 100 O3N-2 5 -5 300 O2N-3 2 -2 140 N2S+1 6 -6 420 N4s= 3 8 0 0 -650 W4s+1 1 -1 660 z3N+2 0 0 510 z4s+3| -3 3 50 W2R-1
5 14 8 -8 50 O3N-1 0 0 100 O2N-1 1 -1 110 N2Ss= -2 2 140 zZz2s+1 5 12 0 0 -660 W3N+2 2 -2 690 Z3N+3 0 0 490 N3N+3 0 0 170 Z2H+2
7 4 -3 3 -400 O3N= 3 -3 200 0O2N-2 12 -12 800 O3K!-: 0 0 200 N2Ss+3 Bye
9 8 -3 3 —-400 O3N= -4 4 =50 z4s-1 2 -2 140 N2S+1 6 -6 420 N4s= 9 2 0 0 -650 W4sS+1 0 0 630 N3N+1 11 -11 1020 N6N+1 14 -14 1190 N4H!+!
11 12 -3 3 -400 O3N= 0 0 100 O3K-1 1 -1 110 N2s= -2 2 150 N2N+1 11 10 0 0 -650 W4s+1 0 0 630 z3N+1 0 0 490 z3N+3| -2 2 100 W4R-2
Bye 13 14 0 0 -650 W4sS+1 0 0 630 N3N+1| -11 11 -50 Z4s-1 =7 7 =110 W2R+1
15 10 -4 4 -460 O3N+2| -4 4 -70 OlK= =7 7 -200 N2s-2| -4 4 50 W2H-1 15 6 10 -10 -200 w3s+2| -17 17 -870 WZSH—]‘ 1 -1 520 z3N+4| -7 7 =110 W2R+1




